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1. 92 @ 3es 3ERT 2020 RERR
fArafaf@a & @ fFa agk # 3Afaa
A. fAcaldr

B. Hforpifaar

C. =gl

D. g tfoerd

Ans. D

Sol.

o A Ufed g8 X § STeT 92 al 3ehigHT
et 2020 RERR BT

o A1 Ufoieq $fomifaar & ged 318 e
arell Y 3R TYFd ToT IARAT H gErr
e 3% AWK arer o gl

* JUAT & [seUid Selles TFT gl

2. 2020 IR QEHR A FAASS e
(STFFASY) T [WEPR el Sir?

A. T drar

B. AR thadr

C. 3&a&a

D. wY

Ans. B

Sol.

* & AR %adl T gafed § fSEe 2020
# gasss gafaT & fav e EHR S
* 2019 # 1 diel H FAASS gatad @
RERR AT

* 3H &9 H Ugoll REHR 1942 & yer=T fohar
AT AT

3. Aefof@a & @ *ld a1 W Fg WHER
Uoha fohar STaT 82

A dT

B. 3T

C. TFY Yoo

D. #I$ et

Ans. C

Sol.

o
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* T Yo g AXHR GaRT oMl STl g,
Afehel T THR aRT Thd fhar J1ar g

* ¥9 3¢ Toh T § ST SEAES W oI
ST §; SHHA Feel gEadsl o deh, TG,
7 FARE, fdag asaE 3R qfA e
A |

* 38 FX & IMYfeh TERIUT Hl 3 dEdfdh
TCFT FT IFGIHdT 6T &l

4, IRAT dexeTs Gaw Fd FAIT ATAT 872
A. 5 TRET

B. 1 ®alr

C. 8 wayr

D. 12 wair

Ans. B

Sol.

* HRA H & ¥ 1 WaEd F dewars faw
HATIT ST &l

* AR deeTeh ol &l Agaiie 7 & 18
3T 1978 F URA & TAdT AT dof &
T H AR Fr 8¢ & dciels fafaas,
1978 garT TUIfa foham aram |

* ARA HRAT deets § dl TUTYAT 1
WA 1977 &I WAGT ATl T TEHT H et
gq &1 TS AT

* g &I HATST & dgd H AT g

5. 9 ¥AY dF #1 ¢ fOEe ganr ue
TATSH FF FIAT &2

A. afspaor Fr FoT FerET

B. Tfhaur fir FaT & HaA FLAT

C. pH gerr

D. pH &I Fgm=T

Ans. B

Sol. :

o OIHIUT A Fal H FH aF T TolSH
foRam (1) I &

* TaTsH Sifds 3R §l
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» yfafrar & for afkgor 31 Sa &a
gl &X 3o Aer gl

6. 1997 Adredl A ‘FaCATATA AR 97 HT
T fohaer & Ar?

A. Fay &g

B. Sirud. 3=

C. dR&ATY g

D. 3ia RE

Ans. B

Sol.

FAMAR 99 TaeAFTE Hr TUTET Siod.
3T A 1882 H &r AN

* I T dfAd H@ER UT| €91 & foF addAre
A 9§ IReY HWIR ‘T fog H TUTem s
S.ug. 3T A & Fr oA

* 3% 1878 & 1898 d& & fig & HuGs
3R gy e & &7 F S fRar an)

7. IR Yool 9T dTell UhHATT Higell THTAHAT
PleT A7

A. 39T Agdr

B. sfexr amefr

C. W=l argg

D. gl FYelA

Ans. B

Sol.

fer st 9Ra I & FAfAG g arell
ggall Afgem | 30¢ 1971 H AR I &
FFAfAd fohar am=r an)

* 9 HRA FI Ugell 3R THATT Afgalr TUTHAAT
o ot

* 1959 #H g HRCT ISET FHA FI 3787
el 9 A

* 1975-77 & 3TUIhIS, HAT o R,
T gers HAAA 7 Ik gUTIAA FeA
& 9T "eae o

o
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8. Tl & @ Fa-dr 78 v AT
A& FET 872

A. Faest

B. &

C. &rEr

D. |l

Ans. D

Sol.

Tt A8 T RATET FE AL §, g HRA Y
TF TS 7T &

x femmery afgai 3 afgar & Sadr scaf
AT &7 I gl B

« TEATErT & 3ferehTer AT qdad! 3earH 74T
¢ former 319 § & 3 Ry, ador, a, 3y
St gl enfedt serdr

+ RAeRr Afear a7 aReEnT ar
Reart § o 319 § &5 3 ¢ av ssd
gl

* TEATeRT AT sl YT # diT caraes Aot
# aafiep fomar amam g-

a) Y = qomely

b) 379 ST JoTelT

C) SEAYT AT JoTely

9. 3rareter 3 Rishr afedt 1 o Fg
TUTT 9T g &2

A. fasorsmaT

B. #AGUITeT

C. FHuTyTeT

D. Tg9dmeT

Ans. C

Sol.

JgugnEr R Al See yds gamer A&
1. TASUTSRITeT - 37ereheier R &I 1 T |
2. AU - He@eiel AR sarfeheadl aAfedr &r
A

3. FHOTAET - 3eFeigr IR s At & r
A

& Gradeup Green Card

Unlimited Access to All 350+ S5C & Railways Mock Tests

Aw

3


http://www.gradeup.com/
http://bit.ly/32EdwOO

www.gradeup.co

4. FEYAET - HAeifhall 3R 3rer@sier Afer #r
HITA|
5. SAYRT - 3odeiel AR SRy afeat &1
A |

10. R wiee gfshar fra ufsear & faodia 872
A. arsueT

B. FtduTdsT

C. awf

D. HEelel

Ans. B

Sol.

g hiee ufshdr Fedurae gihar & {ada
gl

x BN WITC Ufhdl H STl arsg &l AT 31
a7 §ar & Feor AT S B

* BR AIFC Sl FeAelT 3T & Fofol o AT g-
IR TEE & NG A el & /Al a6 &
fohEeer STAT 8 I &1

11. In the following question, each sentence
has four parts marked P, Q, R and S.
Choose the part of sentence with the error
and mark as your answer. If there is no
error, mark 'No error (S)' as your answer.
King penguins (P)/ are active throughout
(Q)/ the long summer days. (R)/ No error

Sol.
The sentence is grammatically correct.
Hence, option D is the correct answer.

12. In the following question, the given
sentence has four parts marked P, Q, R

$
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and S. Choose the part of sentence with
the error and mark as your answer. If there
is no error, mark ‘No error (S) as your
answer.

Earth's deserts (P)/ is a land of extremes,
(Q) /constantly pushing life to the limit. (R)/
No error (S)

A P

B. Q

C.R

D. S

Ans. B

Sol.

‘Extremes’ is incorrect in the sentence.
Rather it should be ‘extreme temperature’
to form a grammatically correct sentence.
Hence, option B is the correct answer.

13. Choose the correct synonym of the
given word from the options given below.
DEPOSITION

A. Ascent

B. Employment

C. Impeachment

D. Coronation

Ans. C

Sol.

The meanings of the words are:
Deposition: the action of deposing
someone, especially a monarch.

Ascent: a climb or walk to the summit of a
mountain or hill.

Employment: the state of having paid work.
Impeachment: the action of calling into
question the integrity or validity of
something.

Coronation: the ceremony of crowning a
sovereign or a sovereign's consort.

Hence, option C is the correct answer.
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14. Complete the sentence with the most
appropriate word.

A man is certain to be prosperous.

A. Diligent

B. Inactive

C. Indolent

D. Lethargic

Ans. A

Sol.

The blank needs an adjective that means
‘hard-working’. ‘Diligent’ meaning ‘having or
showing care and conscientiousness in
one's work or duties’ is the apt fit for the
blank.

Hence, option A is the correct answer.

15. Direction: Choose the most appropriate
option to change the narration (direct /
Indirect) of the given sentence.

She said to her friend, “Where did you go
yesterday?”

A. She asked her friend where she went
yesterday.

B. She asked her friend where she had
gone the day before.

C. She asked her friend where she was
going yesterday.

D. She asked her friend where had she
gone the day before.

Ans. B

Sol.

The direct speech is in interrogative form.
The reporting verb is in past tense and
therefore the reported speech will change
according to the rules. Reporting verb “said”
will change to “asked”. The reported speech
is in simple present tense which will change
to past perfect tense in the indirect speech.

o
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“Yesterday” will change to “the day before”
and pronoun “you” will change to “she”.
Hence, option B is the correct answer.

16. Direction: Select the most appropriate
idiom (in the context) to fill in the sentence.
The government has decided to

GST on some items in order to help small
traders.

A. crack down on

B. roll back

C. steer clear of

D. wash away

Ans. B

Sol.

Roll back = a reduction or decrease.
crack down on = to take severe measures.
Steer clear of = keep away from.

Wash away = to get rid of (something).
The given sentence talks about decrease in
the tax rate of GST in order to help small
traders.

Hence, option B is the correct answer.

17. Select the most appropriate meaning of
the given idiom.

bite your tongue

A. talk for a long time

B. be impossible to be understood

C. get bruises in the mouth

D. stop yourself from saying something
Ans. D

Sol.

Bite your tongue is an idiom which means
stop oneself from saying something or keep
quiet.

Therefore, option (D) is the correct choice.

18. Select the wrongly spelt word.
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A. Resplendant

B. Resistance

C. Resurrect

D. Receptacle

Ans. A

Sol. The correct spelling is Resplendent
which means glorious or having great
beauty.

Resistance means opposition.

Resurrect means return from the dead.
Receptacle is enlarged tip of a stem that
bears the floral parts.

Therefore, out of all the options, option (A)
is the correct answer.

19. In the sentence, identify the segment
which contains the grammatical error.

Its high time we understand the value of
time.A. it's high time

B. we understand

C. value

D. of time

Ans. B

Sol. Option B is grammatically incorrect.
The expression “it is time/high time” is
followed by past verb. So, it should be
“understood” in option B..

20. Select the most appropriate option to
substitute the underlined segment in the
given sentence. If no substitution s
required, select No improvement.
Consuming carbohydrates excessively is
worsen for health.A. is worse for health

B. is worst for health

C. is bad for health

D. No improvement

Ans. C

Sol.

$
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This sentence does not involve a
comparison. Therefore, comparative and
superlative degrees of adjective “bad” will
not be used. Only “bad” can be used. So,
the sentence should be improved according
to option C.

Hence option C is the correct answer.

21. 39 3R TASH &I IS HL S & TS
HGA W A F T A & T IwR
e ¥ R Tt F e s
_bbc_acb ¢ a bb

A. cbabc

B. abcab

C. cabac

D. acbbc

Ans. C

Sol.

The sequence of series is - cbb/caa.

The complete series is
cbb/caa/cbb/caal/cbb.

Hence, option C is correct.

22. 39 GG & TIT HY v & 7 HEaw
S TR & U gy @ dafod § o veR
Pt aag & seat g &

(88, 22, 16)
A. (99, 11, 81
B. (77, 19, 17
C. (33, 49, 45
D. (27, 51, 16
Ans. A

Sol.

Logic behind the number set-
(88, 22, 16)

(88/22) = 4

4% = 16

Similarly,

(99, 11, 81)

~— ~— ~—~ ~—
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(99/11) = 9
9% = 81
Hence, option A is correct.

23. fAFafoaf@a erecl s arféeer wa 3rdqut st
#H cgafeyad #|

1) A RFer

2) Fah fear

3) fafeer ude weforer

ESGINCTIN

5) Sirse &R

6) 3ANHT sfek

A 2, 41,5 3,6

B. 6 4,1,5, 3, 2

C.2,14,5, 3,6

D.2,41,35,6

Ans. A

Sol.

Values of Currencies in Decreasing Order,

N

)
)
)
)

Kuwaiti Dinar

Bahraini Dinar

Oman Rial

Jordan Dinar

British Pound Sterling

United State Dollar

Correct sequence is: 2, 4, 1, 5, 3, 6.

o w a = 5=~ND

Hence, option A is correct.

24. wh 3HephA fem amm B, fSEH @ s ug
I & T v fawedt # & a5 @ fawed
AT, S 3he B [ A
18,32,50,72,7,128,162

A. 91

B. 87

C. 75

D. 98

Ans. D

Sol.

$
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Given series follows the pattern given
below:

32+9=18

4°+16=32

5%+25=50

6°+36=72

7°+49=98

8%+64=128

9%+81=162

Hence, the correct answer is option D.

25. U H@ell oo Ye & &Y & 75 &l v
T et & & WE ReT T S Eer A
quT T |

Swim, Swam, ?, Swimming, Swims

A. Swimmed

B. Swimt

C. Swimm

D. Swimmen

Ans. B

Sol.

Verb forms of Swim in English grammar-
V1- Swim

V2- Swam

V3- Swum

V4- Swimming

V5- Swims

Hence, missing term is Swum.

26. GEM = NJZ @ 39 KID = &I ¥ HIs
HLN?

A. BOY

B. SKR

C. VRH

D. LOG

Ans. C

Sol. The place value of
G-7-7x%x2=14=M
E-5-5%x2=10=J
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M-7—>513x2=26=12Z
Similarly,

K-11 511 x2=22=YV
-9 >9%x2=18=R
D-4-54%x2=8=H

So, KID = VRH.

Hence, the correct option is C.

27. 34 TEABIT & ¥ H TIA HL ST
fArafaf@a dc & g gl

(32, 16, 8)

A. (48, 24, 12)

B. (26, 13, 3)

C. (46, 23, 10)

D. (36, 14, 8)

Ans. A

Sol.

UgCll HEAT, gAY WEAT #I SN § 3R qE@l
TET, A TN A SN g

fahed A &, 48, 24 &1 g & 3R 24, 12
&7 ST &

37 AFeq (a) @er &l

28. 3 3Me TAS & I8 Y ford & 78
Gl H QU A & v A § 78 3R
HgT & Rad T W @M ST Tl g

_ _ PP9_p_p_qp

A. qappq

B. pppaq

C. gpapq

D. pgpgp
Ans. D

Sol.

The sequence is pqp.

The complete series is - pgp/pgp/pap/pgqp
The correct option is (d)

$
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29. fArafaf@a T i ¥er dae & faw
freT & Hehdl @ TWER 39T H d&ar el
qIfeT?

40 + 20 + 50 - 10 x 4 = 40

A x 3R+

B. + 3R -

C. -3+

D. + 3R +

Ans. C

Sol.

According to the question,

If we interchange the - and + sign the
above equation become correct.

40 - 20 + 50 + 10 x 4 (Applying BODMAS)
— 40 -20 +5 x 4

— 40 - 20 + 20

— 60 - 20

— 40

Hence, option C is correct answer.

30. i@ et #, 38 IPpfd F1 TIA
S T et it & B g

D. ©FT=

Ans. C

Sol.

Option A contains 10 bubbles shape.
Option B contains 8 bubbles shape.
Option C contains 9 bubbles shape.
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Option D contains 12 bubbles shape.
Hence, the option C is different from others.

31. If¢ a = 500, b = 502 3R ¢ = 504, ar
a’® + b + ¢ - 3abc F AA AT HfAT

A. 15060

B. 12048

C. 18072

D. 17040

Ans. C

Sol.

fgar §, a = 500, b = 502 3% ¢ = 504
a®+b% +c®—3abc = 2(a+b+)(a—b)? + (b—c)? + (c—a)’]
FH I A T

a® + b* + ¢ - 3abc =

é(soo +502 + 504)[(500 — 502)2 + (502 — 504) + (504 — 500)2]

~(1506)[4 + 4+ 16] _ (12,

(1506) _ 18072

32. U HHAS TS B FAAA N3
ders 51 @ 3R 21 I &, 3R 3= @
ST & oa1S 39 Yo ¥ Focid wslsr &
&A%l (F91 JHAT ) AT AIfee?

A. 1206

B. 1296

C. 1152

D. 1260

Ans. B

Sol.

fear arar §, U A ugS H GAGCR
HS3T & ofers 51 FA 3R 21 @A §, 3R
3= ar ot T g 39 A § oo
H gfar I3 §:

$
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FHHOT BT PAS #,

TTEARIRE AT F T F g
(PS)? = (PA)? + (AS)?

_ (39)% = (15)2 + (4S)?

= As:\/(39)27(15)2:v15217225:m:36-\q—3ﬁ
& Tthel

gH
g(wm' RIS IR ) B

EGLE] Ea)

EDIES
éx (72) x 36 = 1296w

33. 7 A 3R & B Ts T A HAT: 15
Ade 3R 10 fde & R F&d g, Sefh oo
C ot & #t x fAse & @rell aX ¥l Bl
gfg At Foi H tHATT e AT ST, o
TH qff e M A 8 AT T FHY ol B

th

AT Wrell e H

| w

dd C 37hot T T
HT 9

A. 9 fAse
1

B. 2 fAeic
C. 10 A=
ILIDE
D. 2 fAae
Ans. A
Sol.
Al & gan ufard gHE:
el A & FI #T FhaT & = 15 A
Ad B TH P X Fohal § = 10 FAeic
ST C THI Fl Wrell X Tl § = x [HelT
od.9.A. (15,10,x) = 30x
A &1 &7Har = 30x/15 = 2x
B &I &Adr = 30x/10 = 3x
C &T &7Hdr = 30x/x = 30
Tt Fee 2x + 3x - 30 = 5x - 30

Wémwm%ﬂ
Ao, & 8 fAse & qff aE AT el
%ol &THAT = 8(5x - 30) = 30x
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40x - 240 = 30x
X = 24 3 FA &AM = 24 x 30 = 720

SE2E)
3 .
wﬁvéﬁwgmmCaﬁm@ﬁr%m

3
=5 % 720 = 270 ShIS
AT = 270/30 = 9 THeie

34. wh gd #T ar Shar AB 3R CD Ush-gar
# P X 3ale ufdede i g1 Ife AP =
3.5 ¥, PC = 5 &Y, 3R DP = 7 &+ §,
ar PB &1 AT A9 HifaT]

A. 12 @Y

B. 10.5 @&

C. 10 Q=

D. 8 &Y

Ans. C

Sol.

AP = 35 @#T, PC = 5 @+, 3R DP = 7
QAT

3

o}

g gar ¥ &% Shar ufawoe adr &
AP x PB = DP x PC
35xPB=7x5

35
pB=E_10m

35. tan®48° - cosec®42° + cosec(67° + 0) -
sec(23° - 0) & AT & :

A -2

B. -1

C.0

D. 1

Ans. B

Sol.

$
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tan?48° - cosec?42° + cosec(67° + 0) -
sec(23° - 9)

2 o
tan48° - (1 + COL"42°) . cosec(67° +
8) - sec(23° - 9)
tanZ(90 — 48) — 1 — cot? 42° + cosec(90° — 67° — 6)
—sec(23°—0)
cot?42° — 1 — cot? 42° + sec(23° —6) — sec(23° — 8)
= -1

36. U ofFdqgad A% H FeAr 3R FAE A
AT 1:(2.4) 81 IS ST ThysST aahel
2502.5 @I, df 39T 3ade &1 grem? (n =
22/7 &)

A. 13475 @=°

B. 8085 @#®

C. 8820 @’

D. 11550 J+®

Ans. A

Sol.

Bsar 3R =g @1 3eqaTd = 10 2.4

AT e 10x 3R Fa$ = 24x

7 =T = 5x 3R 3Ag = 12x

o i S | = J(52+122)= 13x
AF FT IHYSST &A%l = mrl = 2502.5
. i—z x (5x)(13x) = 2502.5

s (7)? 7
x2=(=) sox==
= 2 2

NED Fr 3RIAT =
3

Tarth=1x2 2 —1,2 7

gm”h 3><7><(5x)(12x) 3><_I,><25><12><(2)

= 13475 cm?®

37. @HAHIOT ax’> + bx + ¢ = 0 (5@ a, b

AR ¢ oRAT dEAw §) F1 v 7T 7 + 4
a*+b®-c*

3 rar a+b-C & aw wa

A. 14

B. -14

C.7
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D. -7
Ans. B
Sol.

]
If one root is 7 + 4“5, then the other
]
must be 7 - 4"“'{:

]
So, sum of the roots = 7 +4“'||“_J +7-4

NERR

and product of the roots = (7 + 4"“5’)(7 -
4“E) =49 - 48 = 1
So the equation ax?* + bx + ¢ = 0 will be -
x? - (Sum of the roots).x + (Product of the
roots) = 0
X*-14x +1=0
Soa=1,b=-14and c = 1
Now, the required
a*+b*-c*

a+b-c

12 +(-14)° - 17

1-14-1

B 156

14
= -14

38.9 x[(9-4) +{8+8o0f4) +(4+4
of 2)}] =T AT :

15
A 4

B. 20
15

c. °
D. 60
Ans. D
Sol.
9 x[(9-4) {8 +~8o0of 4 + (4 + 4 of
2)}]
1 1

=9 x [(9-4)+ (& + 2}

$
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3
=9x[5+ 4]
20
=9x 3

60

39. Teh B FF eI Selel o 3MUR Hr BHsar

3R FA1S 1 U 2: 3 &1 ARG SR AT

202.125 °eT #HleX §, d SEH Fel TSI

B AT HL?

(n = 22/7 <hfaw)

A. 1925 I FEHART

B. 115.2 ot ddefiex

C. 154 a7 FEHAR

D. 168 T3t @R

Ans. A

Sol.

r:-h=2:3

AT AfeT 5 Bsar = 2x 3R 3918 = 3x §

SofeT T 3IdT =

mrin= 202.125 = HIEt

W?x 3G = 202.125
7% x 5%

= - =>
(20)

Fel t‘I‘TSI'J ATPd = 2mrh

Zx?xzstx=2x?>< 10x2=192.5a{nﬁ€mﬁa

x-7
T4

40. TH R F AEIT 3h dold & T H
IAHATTITH 1 ITelcl § 37fe 56 &R T 3:
2: 5 & JUa A drs &ar g, e RO
6200 T9 #HT gIfel BT &1 R &1 ATEATdD
Ao A1 HfSw?

A. 9000

B. 11000

C. 12000

D. 10000

Ans. D

Sol.
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a (weight)?

Price
Let Anand breaks diamond in three parts
having weight as 3x ,2x and 5x

a (weight)?

Price
Price of broken diamond =
(3x)%2 + (2x)? + (5x)? = 38x?

Total weight = 3x + 2x+ 5x = 10 x

a (weight)?

Price

2
Price of diamond in original stage = 100%

2 _ 2 _ 2
Loss = 100X~ — 38x" = 62x

According to question
62x? = 6200
2
_ x2 =100
- x=10
Hence Original value of Diamond =

100 X (10)(10) = Rs.10000
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